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HINTS AND-ANSWERS.

. (¢) The line inside the square must lie at the
corner opposite to the line outside the
square.

2. (d) If all the figures are rotated to the same
position of the shading, then the shading
in all other figures is of the same type.

3. (e) Only inFig. (e), the shading occupies similar
position in the two halves of the circle.
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O is the only vowel whereas others are
consonants.

In all other figures, both the unshaded
circles lie outside the central figure.

In all other figures. the dot appears in the
region common to two circles only.

The zig-zag figures point upward in other
figures when as in Fig. (c), zig-zag is
downward.

The inclination of the triangle in Fig. (d) is
different.

All other figures except (b) be rotated into
each other.

Others have dotted lines.

Only in this figure, both arrows point
outwards.

In each problem figure, the lower figure is
formed by attaching either a straight line or
a curved line to the upper portion of the
upper figure.

In Fig. (c) only. the marked angles are
unequal.

Except in (a), all other figures, there are two
lines towards the pin and three lines towards
the arrow.

All other figures except (a) can be rotated
into each other.

The dot moves clockwise, covering a
quarter of the circle each time and the arrow
changes direction alternately. So after Fig.
(d), Fig. (a) should repeat.

The position of one of the dots is different
from that in other figures.

Except in (e), other figures are inverted
figures of one another.

Except (b). all other figures are mirror images
of English alphabets.

The figure rotates clockwise and extra arc
is added to the figure at each step.

There is no symmetry in legs of Fig. (e).

In Fig. (b) the direction of two flags are in
different directions as compared to others.
Other figures cut each other.

The two dots should be an opposite side of
the line.
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. (@) Inother figures, it is a symbol for ‘and’.
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(¢) InFig. (c), the flags point the same direction.

(¢) Two figures are completely shaded black in
Fig. (c).

(¢) InFig. (c), shaded part is in the centre.

(d) In other figures, the number of lines on the
left corner are the same as the number of
sides in the polygon.

(d) Other figures can be rotated into one
another.

(e) Other figures can be rotated into one
another.

(b) Inall other figures, the face is opened toward
North-east.

(b) In other figures, the arrow is towards the
longer side.

(a) The arrow points away from the corner.

(e) Inall other figures, one column contains +,
A and O where as in other column contains
A, X and —=.

(d) In this figure, the lines are connected to the
ball on both sides.

(e) In other figures, the head of the pin and
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arrow are farthest away.

(a) All figures except (a) contain one arrow and
two similar figures.

(¢) InFig. (e), the inner line does not divide the
figure into two equal parts.

. (d) Fig.(d)does not contain two similar figures.
41.
42,

(¢) Heretwo lines are joined.

(b) Here shaded and unshaded figures are
similar.

(d) Inall other figures except (d) ‘S’ starts from
the base of the triangle.

(e) Inthis figure the arc is opposite to the lines,

(d) The number of lines is equal to the number
of teeth in others.

(¢) The lines in the cones are pointing towards
the top in other figures except (c).

@

(e) In (e), the sign of the Swastik is opposite.

(¢) In Fig. (c), the triangle is inverted.

(d) Others can be rotated into one another.



